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g | B | R e | RGN OGN Rk s 1
s Fepm pw (%) froue i i EzRe | min(iENe, 22QB) (kN) 344 o
! F [ xgim/y s (kN) T [ 1(1) | 2()) | 3(<) | 4(=)
3FRE XF5 1) BN 5 m) 2RISR AT DE IO B DOF= 1.00
v2X12 | 0.80 [ 0.08/0.053 |Ccwss|  200.5 | 0.0 1483 00| 1215] 117.1] 0.0| OK
2RISR AT DE IO B OF = 1.27
v4X2 [ 1.00 [ 0.064/0.053 | CWB 83.7 0.0] 5719 OK
v4 X3 | 1.02 | 0.064/0.053 [ Cs 216.9 0.0 0.0 0.0 0.0 80.6 96.2 | NG
v4 X12 [ 1.00 | 0.08/0.053 | CB 204.4 0.0 2744.1 OK
v3x4 | 1.00 | 0.106/0.053 | cCwB 29.6 0.0 1219.7 OK
v3 X5 [ 1.03 | 0.106/0.053 [ CB 294.1 0.0 9147 OK
v3 X12 | 1.00 | 0.106/0.053 | CWS |  246.6 0.0 2892.4 OK
v2 X2 [ 1.00 | 0.064/0.053 | CWB 40.2 0.0 571.9 OK
v2X3 | 1.00 [ 0.064/0.053 | CS 230.0 0.0 0.0 0.0 0.0[ 119.0 0.0| NG
v2X4 | 1.00 [ 0.08/0.053 | CB 84.9 0.0 0.0 0.0 1215 0.0 0.0] OK
vy2 x5 | 1.00 | 0.08/0.053 | CB 84.2 0.0 0.0 0.0 1215 00| 163.9[ oK
v2 X12 [ 0.80 [ 0.08/0.053 | CWSS|  200.5 0.0] 148.3 0.0] 1215 1171 0.0] OK
2RISR DA T D E AT OMET B OF = 1.50
v4X2 [ 1.00 | 0.064/0.053 | CWB 83.7 0.0] 571.9 OK
v4 X3 | 1.02 | 0.064/0.053 [ Cs 216.9 0.0 0.0 0.0 0.0 80.6 96.2 | NG
v4 X12 [ 1.00 | 0.08/0.053 | CB 204.4 0.0 2744.1 OK
v3x4 | 1.00 | 0.106/0.053 | cCwB 29.6 0.0 1219.7 OK
v3 X5 [ 1.03 | 0.106/0.053 | CB 294.1 0.0 9147 OK
v3 X12 | 1.00 | 0.106/0.053 | CWS |  246.6 0.0 2892.4 OK
v2 X2 [ 1.00 | 0.064/0.053 | CWB 40.2 0.0 571.9 OK
v2X3 | 1.00 [ 0.064/0.053 | CS 230.0 0.0 0.0 0.0 0.0 119.0 0.0| NG
v2X4 | 1.00 [ 0.08/0.053 | CB 84.9 0.0 0.0 0.0 1215 0.0 0.0] OK
v2 x5 | 1.00 | 0.08/0.053 | CB 84.2 0.0 0.0 0.0 1215 00| 163.9[ oK
v2 X12 [ 0.80 [ 0.08/0.053 |CWSS|  200.5 0.0] 148.3 0.0] 1215 1171 0.0] OK
2RISR AT D E IO B OF = 1.75
v4X2 [ 1.00 [ 0.064/0.053 [ CWB 83.7 0.0] 571.9 OK
v4 X3 | 1.02 | 0.064/0.053 [ Cs 216.9 0.0 0.0 0.0 0.0 80.6 96.2 | NG
v4 X12 [ 1.00 | 0.08/0.053 | CB 204.4 0.0 2744.1 OK
vy3 x4 | 1.00 | 0.106/0.053 [ cwB 29.6 0.0 1219.7 OK
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